Section 7.4-1

1. it 1) = _i( 1 ) - 1

ds \s +10 s+ 10)2
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3. if{tcos?t}z—%(szj_4)= 32 42
' (52 +4)

9. The Laplace transform of the differential equation is
N [Fals — 23
Solving for #{y} we obtain
2s 1 1 1 1 1 s 1
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Ly} = = —— - = — :
W =GrpmEsr ™ 3511 221 i Z i T @i T @)
Thus
(t) = —le_f' — l5‘11‘1t + lccnst + l(sint —tcost) + lt sint
Y 2% T3 2 2 2
= le_f'—l—lcost ltcost—i—ltsint
) 2 2 2 '
11. The Laplace transform of the differential equation is
2y ! Ay . ul
Ly} - sy(0) -~y (0) + 94y} = F5-
Letting y(0) = 2 and 3/(0) = 5 and solving for #{y} we obtain
25% + 5s? + 195 + 45 2s 5 s
.-:f = =
tv} (s249)2 32+9+32+9+(32+9]2

Thus 5 1
y =2cos3t +'§sin3t + Et sin 3t.
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